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Answer all the questions

1 A bakery bakes small, medium and large pies.
The ratio small : medium : large is 3: 5 : 2.

(@) What fraction of the pies are large?

(b) One day 460 medium pies are baked.

Work out how many small pies are baked.

S N L
3 5 2
A

Le®d =5 792
xn

2 Atriangle has sides of length 23.8 cm, 31.2cm and 39.6 cm.

Is this a right-angled triangle?
Show how you decide.

288" +31-9° = 152988
J1532.86 = 3A-241%0... #39-bem

th IS not ng’m anguo&
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3 (a) Solve.
4x -7 =8-2x
bax = |5
x =15 .5

(b) Solve this inequality.

5x+9>13

53c>/+
x&

5

(c) Rearrange this formula to make x the subject.

y=v4x-3

L loc-H

b

Y +3 = foc

Ly
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4  John is going to drive from Cambridge to Newcastle.

]

»
A

«
¢
g

Od Scale: 1cm represents 50 miles

i{m
-

!

Newcastle
[ ]

~

o \&
)
Camb.ridge

S

(@) John needs to be in Newcastle at 11 am.
He drives at an average speed of 60 miles per hour.

What time does he need to leave Cambridge?

Mrkonca = Lo ez SO nudun
X 50
= 200md o0

T=209 « 33 = Jous 20 v,
&0

OF 40  Sulmais |
6_/__I
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(b) State one assumption you have made.
Explain how this has affected your answer to part (a).

5 When water freezes into ice its volume increases by 9%.

What volume of water freezes to make 1962 cm?® of ice?

s 1-09: 19621
1262 < 1-09 = 1300
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6 The table shows data for the UK about its population and the total amount of money spent on
healthcare in 2002, 2007 and 2012.

Year Population Total spent on healthcare (£) EP‘U pusm
2002 5.94 x 107 8.14 x 10" £13720- 3>
2007 6.13 x 107 1.20 x 10™ £ (as™* 89
2012 6.37 x 107 1.45x 10" 2231630

(@) How much more was spent on healthcare in 2007 than in 2002?
Give your answer in millions of pounds.

I-QxlO" - 8'|L|_xlom
386x 10"

DB6 00000000
F———

(a) £ Sﬁ)éoo ..... million [3]

(b) Marcia says

The amount spent on healthcare per person in the UK doubled in 10 years.

Use the information in the table to comment on whether Marcia is correct.
£ pu puisen

2002  £1330-3x x) = Q40 714

2009 £(asSy} 89
2012 1273630 N0 > 223630
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7 OPQ s a sector of a circle, centre O and radius 9 cm.

Or_
Gar~J

P Q

Find th¢ perimeter of the sector.
Give your answer in terms of =.

,lﬁo_xﬁx‘cg = Am
30

%wum=qn+w

8 (a) Write down the reciprocal of 8.

(b) Work out the value of k.

Not to scale

fum CCHD

NP 9°, 97" - 9°

45

[ x L Lox b ly
JXl*u"’J\XQFQ > QXZxQXrl
s Q'o

Al

|1
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A=mrt
_:lﬂ'*l-lg ....... cm [3]
1
(a) 8 ....................... [1]
({ o) 6 .................. [3]
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9 Triangle A is drawn on the coordinate grid.

Zara and Sam each transform triangle A onto triangle B.

e Zara uses a rotation of 90° clockwise about the origin followed by a reflection in x = 3.

e Sam uses a reflection in y = 7xX followed by a transformation T.
(a) Draw and label triangle B. [3]

(b) Describe fully transformation T.

© OCR 2015 J560/06



9

10 P has coordinates (0, -1) and Q has coordinates (4, 1).

y Not to scale

0 )
i
(&n-1) L

(a) Find the equation of line PQ.

(b) P and Q are two vertices of rectangle PQRS.

Find the equation of line QR.

Lo or 3:-27C+C
n | 5 -2xly +C
!

\4.8: C :q

o
J

-
-
-
=
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11 Omar surveyed a group of workers to find their hourly rate of pay.
His results are summarised in the histogram.

A
30 = 1 pean
=15
Frequency
density
(workers 15X~
per £) 10{3:8 b- |
%] £16) LO% 1 =4
0 >
5 10 15 20 25 30 35 40
038 Hourly rate of pay (£)
(@) Show that Omar surveyed 250 workers. [3]
S-F3 = 23xI12 50
1§10 = 2.5x2L | 65 30+65"':]S+é>0+2'0
(b-1S = S5x 1S 3S = 250
[S-20= Sx IZ 60 _—
20-340: 20 x| 20
(b) The UK living wage is £7.85 per hour.
A newspaper states that one fifth of workers earn less than the living wage.
(i) Does Omar’s survey support the statement in the newspaper?
Show how you decide.
L of 280 = SO
S
£185  2:5x12 + 0-35x 2L
30 +9
= 39
39:1 <5080hw,sovvctjdocanat Suppotk. the stakemans...............
...................................................................................................................................... [4]
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(ii) Explain why your calculations in part (b)(i) may not give the exact number of workers
earning less than the living wage.

We_dant lnow Ma ecactusdueo codin eaoh udasved

(c) Omar used this table to record the ages of the people in his survey.

Age (ayears) | 18<a<20 | 20<a<30 | 30<a<40|40<a<h0|50<ax<70
1g<ad10l <30 <40 {30 <0

Comment on one problem with his table.

............................................................................................................................................. [1]
12 The diagram shows trapezium ABCD.
E is the midpoint of AD.
BCE is an equilateral triangle.
B | C Not to scale
A H E tH AN
Prove that triangle ABE is congruent to triangle DCE.
be = CC (egualakued tm\nﬁ\m)
N S
Bea = CED
Hhartloe ABC w conguantto DCE (SAS) ...
.................................................................................................................................................... [4]
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13 (a) The graph shows the speed of a car during the first 30 seconds of its journey.

A
18-+ : 5
o 22x8
Speed o 'Solé
(m/s) <5/\8' | !
X\§ !
z | |
32 | R
0 8 30

Time (seconds)

(i) State the acceleration of the car after 20 seconds.

(if) Find the total distance travelled by the car in the 30 seconds.

32+376

(b) The speed v of a train is 68 km/h, correct to the nearest km/h.

Write down an inequality to show the error interval for v.

A 68-S
£3 —llemhr
IRSWARS 0GI3L VSLES 1y
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(c) The graph shows the distance travelled by a lorry in 12 seconds.

A
100
80
60
Distance
(metres)
40
/.
20
1 > 4
| s
118 10 Biiines  caifnpnnis
0f—— >
0 2 4 6 8 10 12
0 95— Time (seconds)
Estimate the speed of the lorry after 5 seconds.
[0 2
() - 5 ...................... m/s [4]
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14 An activity camp has climbing and sailing classes.

e 50 children attend the activity camp.
e 35 children do climbing.

+ 10 children do both classes.V 50-33
e 2 children do neither class.

(a) Represent this information on a Venn diagram.

< SAILINY

NG
K
C/\.,

2

[3]
(b) A child attending the activity camp is selected at random.
Find the probability that this child
(i) did exactly one class,
25413

(b)) ... [2]

(ii) did sailing, given that they did not do climbing.

13
/

1) WL Y 2]
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15 Show that

4 2 2(x+5)
X-3 x+1 (x-3)(x+1) [3]

4(?c+') ~2L9C'3> = hoc+ H-2o+b
(3(-3)(35-}[) @C*B)(gc-l'l\

=210 L 9(x45) oo
(Ee-3(x+)  (oc-3)(ac +1)

16 The diagram shows the positions of three hills, A, B and C.

quth B Not to scale

17 1S
\Shm — T —
C snsy  swb
B is 23 km from A on a bearing of 070°.
Cis 15km from A.
Angle ACB = 54°. St b - r_S_XS/méL'
23
Find the bearing of C from A. |
B s { 1S SU\SL+>
23
= 318443335
= 318" 1dp)

A= 180-(31.8 +5k)

= Q41552245
* U-2° (Idp)

© OCR 2015
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17 A cuboid has length x cm.

The width of the cuboid is 4 cm less than its length.
The height of the cuboid is half of its length. %
p——
(a) Thelsurface area}of the cuboid is 90 cm?. 2
not voelue ! -
x
ac

Show that 2x% — 6x — 45 = 0. [5]

Qx[%c xx}r@yoc(oc -L&lﬂ[_ﬂ,;_(oc ‘LL)] = A0

dx ot + 2(oct-4x) +2(x"-2m)c< 96
2 2

et +2oct -G 42t -Loe =90

Lx*-12¢ -90 =0
L™ Goc- 45 =0

-2

(b) Work out the volume of the cuboid.

noed oc” Doct- boc - 4SO

e (-0 Ot - 20008

2 %1

= 639

4
6431 ¢

\Volume >
4 4@ (C’%?a é’) * '/1(()4’4@6)

X = 6L ALaRAN8L ok g solubes X (6_4/5:‘-% -4

L
=§1-880637 ..
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